250|535l 22 9t WA & = 1Y UL 3HE2Y

_ 4 1
Tty s — = =
PUeSE: =
CHATEE

1, 15
4 16 16




F3o] 5 7HA] A2 gF HATE AL8-S5)

o17}2
@ 12714 @ 24744 ® 48717
@ 60714 ®)1207}4]

5714 M& A-B-C-D-E&£AE Ygshe Aojnzg
LBx4x3x2x1 =120 (7HA)




FHY Fofl 1914 20742 27 2
Bot M-S ¢l W2 ohg ohAl &F 7

of W%, ol 247}t

SL= O
= e

7} 49l 2ol gl @ A&
2 ol g2 o, 43

1 1 1 3 1
o; @ o5 05 o
49 W7} b BE D = L

20 4’
e sE: =

%
meb] Fote HEE | X




AR E T U2 =9 9 AABC A
oA Eote] 47t o] Mg ot /
JeFo & Fo] o] Fetthal siat. o

, FAE 94 47 gtk ol
B> C—> A—> B 9 &A= o]5dtyo

=
1o
oL >

ey
Bel o N

T

i & o ok

Lon
N

’

=

vs)

B §1e] ol Hrh. 74912 5 ¥ A

o, AR b7 Fol A, SHA 97 Fol o] 9 88
st

1 1 1 1 1
o; @ ©n @ O

Q

tlo

~&B

A MAZ AA A0] & A9E FA o] 3,60] ok
A9 27kl 1,
= AR 97 5 Bol & A9E FAIC o] 1,40] 0k
B9 2710,

webA FetuA she BEe Dx 2= L= o







th5 I olA A T aABC o] WAloloh W] vhx]52] dol7t
3cm ©]1, AABC 2] Yo]7} 48cm? ¥ W], AABC 2] Ed¢] Zdo]=?

@32cm @ 34cm ® 36cm @ 28cm ® 40cm

B

AABC 9] Ed|¢] Zo]& xcm & oFH
AABCZ%XSX)C=48

oo x = 32(cm)




